Analisis Matematico

1°.- Hallar:
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3°.- Resolver el sistema:

%=-7x+y+5
d x(0)=y(0)=0.
—y=-2x-5y-37t
dt



Solucidén
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El resultado la suma de las dos.
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3°.-Aplicando la transformada de Laplace al sistema:
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sL[x]-x(O):-YL[x]+L[y]+§ (s+7)L[x]-L[y]=
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SL[Y]-y(©0)=-2L[x]-5L[y]- 57 | 2L[x]+(s+5Lly]=-3F
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=(s+7)(s+5)+2=s*+12s+37.
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Aplicando Cramer :
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_A+E+ Cs+D
s s? s*+12s+37

= As(s® +12s+37)+B(s* +12s+37)+s*(Cs+D) =55 + 25s - 37,

s=0=37B=-37=B=-1.
coef(s®);A+C=0.
coef(s®);12A+B+D =5.
coef(s);37A+12B=25=>A=1

C=-1,D=-6.

x=L" F} +1t {—ﬂ +11 {%} =1-t+L* {(ises—;i)rl} =1-t-e®cost.
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= As(s*+12s+37)+B(s* +12s+37)+s’(Cs+D) =-47s-37.7

s=0=37B=-37.7=B=-7.
coef(s®);A+C=0.
coef(s?);12A+B+D =0.
coef(s);37A+12B=-47=A=1

C=-1,D=-5.
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